

Environmental Profile

This LCA is calculated according to: ISO 14044, ISO 14040 and EN 15804

Ecochain v4.3.1



Product: 3093222 - Calefa II DH unit V 40-40 H ITC CITY 7
Unit: 1 piece
Manufacturer: Wavin Denmark Hammel
Address: Wavinvej 1
8450 Hammel
Denmark
Contact: <https://www.wavin.com/en-en>

LCA standard: EN15804+A2 (2019)
Standard database: Worldwide - Ecoinvent v 3.6 Cut-Off
Externally verified: Yes
Issue date: 18-10-2024
End of validity: 18-10-2029
Verifier: Martijn van Hövell - SGS Search



Calefa II V is an indirect district heating unit with flow-through water heater and heat exchanger for space heating for villas and larger housing complexes.

This LCA was evaluated according to EN15804+A2. It was concluded that the LCA complies with this standard.

The LCA background information and project dossier have been registered in the online Ecochain application in the account Wavin Denmark Hammel (2020). (☑ = module declared, MND = module not declared).

A1	A2	A3	A4	A5	B1	B2	B3	B4	B5	B6	B7	C1	C2	C3	C4	D
☑	☑	☑	MND	MND	MND	MND	MND	MND	MND	MND	MND	MND	☑	☑	☑	☑
Product stage					Use stage							End-of-Life stage				
A1 Raw material supply A2 Transport A3 Manufacturing					B1 Use B2 Maintenance B3 Repair B4 Replacement B5 Refurbishment B6 Operational energy use B7 Operational water use							C1 De-construction demolition C2 Transport C3 Waste processing C4 Disposal				
Construction process stage					Benefits and loads beyond the system boundaries											
A4 Transport gate to site A5 Assembly / Construction installation process					D Reuse- Recovery- Recycling- potential											

Environmental impacts and parameters

GWP-total = EF Climate change [kg CO2 eq]; **GWP-f** = EF Climate change - Fossil [kg CO2 eq]; **GWP-b** = EF Climate change - Biogenic [kg CO2 eq]; **GWP-luluc** = EF Climate change - Land use and LU change [kg CO2 eq]; **ODP** = EF Ozone depletion [kg CFC11 eq]; **AP** = EF Acidification [mol H+ eq]; **EP-fw** = EF Eutrophication, freshwater [kg P eq]; **EP-m** = EF Eutrophication, marine [kg N eq]; **EP-T** = EF Eutrophication, terrestrial [mol N eq]; **POCP** = EF Photochemical ozone formation [kg NMVOC eq]; **ADP-mm** = EF Resource use, minerals and metals [kg Sb eq]; **ADP-f** = EF Resource use, fossils [MJ]; **WDP** = EF Water use [m3 depriv.]; **PM** = EF Particulate matter [disease inc.]; **IR** = EF Ionising radiation [kBq U-235 eq]; **ETP-fw** = EF Ecotoxicity, freshwater [CTUe]; **HTP-c** = EF Human toxicity, cancer [CTUh]; **HTP-nc** = EF Human toxicity, non-cancer [CTUh]; **SQP** = EF Land use [Pt]; **PERE** = Use of renewable primary energy excluding renewable primary energy resources used as raw materials [MJ]; **PERM** = Use of renewable primary energy resources used as raw materials [MJ]; **PERT** = Total use of renewable primary energy resources [MJ]; **PENRE** = Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials [MJ]; **PENRM** = Use of non-renewable primary energy resources used as raw materials [MJ]; **PENRT** = Total use of non-renewable primary energy resources [MJ]; **PET** = Total energy [MJ]; **SM** = Use of secondary material [kg]; **RSF** = Use of renewable secondary fuels [MJ]; **NRSF** = Use of non-renewable secondary fuels [MJ]; **FW** = Use of net fresh water [m3]; **HWD** = Hazardous waste disposed [kg]; **NHWD** = Non-hazardous waste disposed [kg]; **RWD** = Radioactive waste disposed [kg]; **CRU** = Components for re-use [kg]; **MFR** = Materials for recycling [kg]; **MER** = Materials for energy recovery [kg]; **EET** = Exported energy thermic [MJ]; **EEE** = Exported energy electric [MJ]; **BIO-C-Product** = Biogenic C content, product [kg C]; **BIO-C-Packaging** = Biogenic C content, packaging [kg C]

Statement of Confidentiality

This document and supporting material contain confidential and proprietary business information of Wavin Denmark Hammel. These materials may be printed or (photo) copied or otherwise used only with the written consent of Wavin Denmark Hammel.

Results

Environmental impact		Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
GWP-total		kg CO2 eq	1.430E+2	3.166E+0	4.785E-1	1.467E+2	8.264E-1	4.174E+0	4.070E-2	-3.474E+1	1.170E+2
GWP-f		kg CO2 eq	1.438E+2	3.164E+0	4.659E-1	1.474E+2	8.258E-1	2.105E+0	4.068E-2	-3.438E+1	1.160E+2
GWP-b		kg CO2 eq	-8.755E-1	1.180E-3	1.242E-2	-8.619E-1	3.164E-4	2.068E+0	1.109E-5	-3.298E-1	8.762E-1
GWP-luluc		kg CO2 eq	1.619E-1	1.159E-3	2.662E-4	1.634E-1	2.923E-4	8.745E-4	4.838E-6	-3.935E-2	1.252E-1
ODP		kg CFC11 eq	2.105E-4	6.983E-7	5.566E-8	2.112E-4	1.903E-7	1.250E-7	7.128E-9	-2.415E-6	2.092E-4
AP		mol H+ eq	3.449E+0	1.835E-2	4.133E-3	3.471E+0	4.704E-3	8.015E-3	1.649E-4	-4.699E-1	3.014E+0
EP-fw		kg P eq	2.754E-2	3.192E-5	2.218E-5	2.760E-2	6.795E-6	4.349E-5	1.969E-7	-3.911E-3	2.374E-2
EP-m		kg N eq	2.521E-1	6.466E-3	1.437E-3	2.600E-1	1.683E-3	1.923E-3	6.319E-5	-5.872E-2	2.050E-1
EP-T		mol N eq	3.346E+0	7.129E-2	1.345E-2	3.430E+0	1.855E-2	2.195E-2	6.292E-4	-7.729E-1	2.699E+0
POCP		kg NMVOC eq	9.702E-1	2.035E-2	3.855E-3	9.944E-1	5.303E-3	6.295E-3	1.879E-4	-2.033E-1	8.029E-1
ADP-mm		kg Sb eq	2.261E-1	8.016E-5	2.320E-5	2.262E-1	2.136E-5	3.508E-5	1.597E-7	-1.322E-1	9.412E-2
ADP-f		MJ	1.742E+3	4.772E+1	4.724E+0	1.795E+3	1.268E+1	1.322E+1	4.872E-1	-4.982E+2	1.323E+3
WDP		m3 depriv.	6.047E+1	1.707E-1	1.421E-1	6.078E+1	3.890E-2	8.903E-2	2.004E-2	-1.728E+1	4.365E+1
PM		disease inc.	1.395E-5	2.841E-7	7.632E-8	1.431E-5	7.454E-8	1.183E-7	3.223E-9	-2.691E-6	1.182E-5
IR		kBq U-235 eq	4.800E+0	1.999E-1	1.668E-2	5.016E+0	5.541E-2	5.397E-2	2.023E-3	-1.672E+0	3.456E+0
ETP-fw		CTUe	3.370E+4	4.255E+1	2.130E+1	3.376E+4	1.029E+1	3.863E+1	3.306E-1	-7.304E+3	2.650E+4
HTP-c		CTUh	1.561E-6	1.380E-9	9.902E-10	1.563E-6	3.663E-10	1.651E-9	7.776E-12	-3.296E-7	1.236E-6
HTP-nc		CTUh	3.921E-5	4.654E-8	2.242E-8	3.928E-5	1.227E-8	4.496E-8	2.299E-10	-1.021E-5	2.913E-5
SQP		Pt	1.007E+3	4.140E+1	3.883E+0	1.052E+3	1.085E+1	1.950E+1	1.043E+0	-2.199E+2	8.638E+2
Resource use		Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
PERE		MJ	3.037E+2	5.974E-1	2.566E+1	3.300E+2	1.819E-1	1.348E+0	5.366E-3	-7.551E+1	2.560E+2
PERM		MJ	0	0	0	0	0	0	0	0	0
PERT		MJ	3.037E+2	5.974E-1	2.566E+1	3.300E+2	1.819E-1	1.348E+0	5.366E-3	-7.551E+1	2.560E+2
PENRE		MJ	1.858E+3	5.066E+1	4.981E+0	1.914E+3	1.346E+1	1.404E+1	5.174E-1	-5.325E+2	1.409E+3
PENRM		MJ	0	0	0	0	0	0	0	0	0
PENRT		MJ	1.858E+3	5.066E+1	4.981E+0	1.914E+3	1.346E+1	1.404E+1	5.174E-1	-5.325E+2	1.409E+3
PET		MJ	2.162E+3	5.126E+1	3.064E+1	2.244E+3	1.364E+1	1.539E+1	5.228E-1	-6.080E+2	1.665E+3
SM		kg	0	0	0	0	0	0	0	0	0
RSF		MJ	0	0	0	0	0	0	0	0	0
NRSF		MJ	0	0	0	0	0	0	0	0	0
FW		m3	1.651E+0	5.812E-3	3.844E-3	1.661E+0	1.435E-3	4.396E-3	5.278E-4	-4.771E-1	1.190E+0

Output flows and waste categories	Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
HWD	kg	3.151E-2	1.209E-4	1.005E-5	3.164E-2	3.242E-5	3.174E-5	7.149E-7	-1.714E-2	1.457E-2
NHWD	kg	7.917E+1	3.027E+0	8.485E-2	8.228E+1	7.857E-1	5.165E-1	3.198E+0	-1.871E+1	6.807E+1
RWD	kg	4.303E-3	3.133E-4	2.392E-5	4.641E-3	8.621E-5	6.687E-5	3.198E-6	-1.436E-3	3.361E-3
CRU	kg	0	0	0	0	0	0	0	0	0
MFR	kg	0	0	0	0	0	0	0	0	0
MER	kg	0	0	0	0	0	0	0	0	0
EET	MJ	0	0	0	0	0	0	0	0	0
EEE	MJ	0	0	0	0	0	0	0	0	0
Others	Unit	A1	A2	A3	A1-A3	C2	C3	C4	D	Total
BIO-C-Product	kg C	0	0	0	0	0	0	0	0	0
BIO-C-Packaging	kg C	5.640E-1	0	0	5.640E-1	0	0	0	0	5.640E-1



Ecochain Technologies BV
H.J.E. Wenckebachweg 123, 1096 AM Amsterdam, The Netherlands
<https://www.ecochain.com>
+31 20 3035 777